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Eight persons P, Q, R, S, T, U, V and W are 
sitting in the circular table. Some of them are 
facing inside and some of them are facing 
outside but not necessarily in the same order. 
Q sits second to the left of P. Only two person 
sits between Q and S. S is not the immediate 
neighbour of P. U sits second to the left of W. 
Only three persons are sitting between V and 
W. But W is not the immediate neighbour of P. 
S is facing opposite direction as P. R is sitting 
immediate left of S. Immediate neighbour of T 
are facing same direction. T is facing inside. Q 
sits second to the right of R. Not more than 
one person sitting together is facing same 
direction. U is not the immediate neighbor of 
S. U faces opposite direction that of Q. Q faces 
same direction as T.

आठ व्यक्ति P, Q, R, S, T, U, V और W वतृ्ताकार मेज
पर बैठे हैं। उनमें से कुछ का मुख अंदर की ओर है और
कुछ का मुख बाहर की ओर है लेककन आवश्यक नह ं
इसी क्रम में हो। Q, P के बाएं से दसूरे स्थान पर बैठा
है। Q और S के बीच केवल दो व्यक्ति बैठे हैं। S, P का
ननकटिम पडोसी नह ं है। U, W के बाएं से दसूरे
स्थान पर बैठा है। केवल िीन व्यक्ति V और W के
बीच बैठे हैं। लेककन W नह ं है। P के ननकटिम पडोसी
का मुख P की ववपर ि ददशा की ओर है. R, S के ठीक
बायें बैठा है. T के ननकटिम पडोसी का मखु समान
ददशा की ओर है. T का मुख अंदर की ओर है। Q, R के
दायें से दसूरे स्थान पर बैठा है। एक साथ बैठे एक से
अधिक व्यक्ति समान ददशा की ओर उन्मुख नह ं हैं।
U, S का ननकटिम पडोसी नह ं है. U का मुख Q की
ववपर ि ददशा की ओर है. Q का मुख T के समान ददशा
की ओर है.
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Eight persons P, Q, R, S, T, U, V and W are 
sitting in the circular table. Some of them are 
facing inside and some of them are facing 
outside but not necessarily in the same order. 
Q sits second to the left of P. Only two person 
sits between Q and S. S is not the immediate 
neighbour of P. U sits second to the left of W. 
Only three persons are sitting between V and 
W. But W is not the immediate neighbour of P. 
S is facing opposite direction as P. R is sitting 
immediate left of S. Immediate neighbour of T 
are facing same direction. T is facing inside. Q 
sits second to the right of R. Not more than 
one person sitting together is facing same 
direction. U is not the immediate neighbor of 
S. U faces opposite direction that of Q. Q faces 
same direction as T.
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Who among the following sits to the immediate right of S? 
a) P b) Q c) R d) T e) None of these

Who among the following sits opposite to R? a) P b) U c) V 
d) S e) None of these

How many persons are facing inside? a) One b) Two c) 
Three d) Four e) None of these

Four of the following five are alike in a certain way thus 
forms a group. Find the one that does not belong to the 
group? a) T b) U c) W d) S e) V

How many persons are sitting between Q and T when 
counted in clockwise direction from T? a) One b) Two c) 
Three d) Four e) None
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Ten people A, B, C, D,E, P, Q, R, S and T are 
sitting in two rows. Five people in each row 
facing each other. A, B, C, D and E are facing 
north. P, Q, R, S and T are facing south but not 
necessarily in the same order. C sits third to 
the right of A. One who is sitting opposite to C 
sits immediate left of R. Only one person 
sitting between R and T. T is sitting one of the 
right positions of R. Only two people are 
sitting between T and S. One who is sitting 
opposite to Q sits third to the left of B. But B 
is not sitting at the extreme ends. Number of 
persons sitting to the left of P and number of 
persons sitting to the Left of E is same.

दस व्यक्ति A, B, C, D, E, P, Q, R, S और T दो पंक्तियों
में बैठे हैं। प्रत्येक पंक्ति में पााँच लोग एक दसूरे के सामने
खडे हैं। A, B, C, D और E का मुख उत्तर की ओर है। P, Q, 
R, S और T का मुख दक्षिण की ओर है लेककन आवश्यक
नह ं इसी क्रम में हो। C, A के दायें से िीसरे स्थान पर
बैठा है। C के ववपर ि बैठा व्यक्ति R के ठीक बायें बैठा
है। R और T के बीच केवल एक व्यक्ति बैठा है। T, R के
दायें स्थान में से एक पर बैठा है। T और के बीच केवल दो
व्यक्ति बैठे हैं। S. Q के ववपर ि बैठा व्यक्ति B के बाएं से
िीसरे स्थान पर बैठा है। लेककन B अंनिम छोर पर नह ं
बैठा है। P के बाईं ओर बैठे व्यक्तियों की संख्या और E के
बाईं ओर बैठे व्यक्तियों की संख्या समान है।
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Ten people A, B, C, D,E, P, Q, R, S and T are 
sitting in two rows. Five people in each row 
facing each other. A, B, C, D and E are facing 
north. P, Q, R, S and T are facing south but not 
necessarily in the same order. C sits third to 
the right of A. One who is sitting opposite to C 
sits immediate left of R. Only one person 
sitting between R and T. T is sitting one of the 
right positions of R. Only two people are 
sitting between T and S. One who is sitting 
opposite to Q sits third to the left of B. But B 
is not sitting at the extreme ends. Number of 
persons sitting to the left of P and number of 
persons sitting to the Left of E is same.
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Who among the following sits diagonally 
opposite to S? a) D b) A c) B d) C e) None of 
these

Who among the following does not belong to 
the group? a) Q b) S c) C d) D e) E

Who sits opposite to A? a) P b) Q c) R d) T e) S

How many persons sitting between D and C? a) 
One b) Two c) Three d) Four e) None

Who sits second right of S? a) P b) Q c) R d) S e) T
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Certain number of people was sitting in a 
circle facing towards the Centre. Some of 
the person’s arrangements are
known. A was sitting fourth to the left of 
B.J was sitting seventh to the right of A. 
Number of person sitting between A
and B was same as the number of persons 
sitting between A and F. J was the neighbor
of D who sits at the seventh position from 
F(either left or right of F). Number of 
person sitting between F and M was same 
as the number of persons sitting between 
M and D.K was the neighbor of J.M is not 
the immediate neighbor of A.

ननक्श्चि सखं्या में लोग एक घेरे में कें द्र की ओर
उन्मखु होकर बैठे थे। व्यक्ति की कुछ व्यवस्थाएं
हैं
। A, B के बायें से चौथे स्थान पर बैठा है। J, A के
दायें से सािवें स्थान पर बैठा है। A के मध्य बैठे
व्यक्तियों की सखं्या
और B, A और F के बीच बैठे व्यक्तियों की सखं्या
के समान था। J, D का पडोसी था जो F से सािवें
स्थान पर बैठिा है (या िो F के बाएं या दाएं)। F 
और M के बीच बैठे व्यक्तियों की सखं्या M और
D के बीच बैठे व्यक्तियों की सखं्या के समान थी।
K, J का पडोसी था। M, A का ननकटिम पडोसी
नह ं है।
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Certain number of people was sitting in a 
circle facing towards the Centre. Some of 
the person’s arrangements are
known. A was sitting fourth to the left of 
B.J was sitting seventh to the right of A. 
Number of person sitting between A
and B was same as the number of persons 
sitting between A and F. J was the neighbor
of D who sits at the seventh position from 
F(either left or right of F). Number of 
person sitting between F and M was same 
as the number of persons sitting between 
M and D.K was the neighbor of J.M is not 
the immediate neighbor of A.
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What is the position of M with respect to A?
a) Third to the left b) Immediate right c) Seventh to the 

right 
d) Second to the right e) Fifth to the right

How many persons were sitting in a circle?
a) 07 b) 08 c) 16 d) 19 e) 21

How many known persons were sitting between A and J 
when counted from left of A?
a) Three b) Four c) Five d) Two e) Six

Who sits second to the right of B?
a) K b) F c) A d) J e) M

If C sits exactly between A and K when counted from right of 
A, then what is the position of C with respect to D?
a) Fifth to the left b) Fourteenth to the right c) Fifth to the 
left d) Sixteenth to the right e) Either (a) or (b)
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A certain number of people sitting in a South 
facing row. Only some people arrangements 
are known.
Only one person sits between I and M.L sits 
fourth to the left of I. Five person sits 
between L and V. Four people sit
between V and Q. Not more than six people 
sits to the right of V. Number of person sits 
between I and Q is as same as
between number of person sits between M 
and T. M sits right of T. Three peoplesit
between T and W. W sits adjacent
to L.

दक्षिण की ओर उन्मुख पंक्ति में बैठे लोगों की एक
ननक्श्चि संख्या। कुछ लोगों की व्यवस्था ह पिा होिी है।
I और M के बीच केवल एक व्यक्ति बैठा है। L, I के बाएं से
चौथे स्थान पर बैठा है। L और V के बीच पांच व्यक्ति बैठे
हैं। चार लोग बैठिे हैं
V और Q के बीच में। V के दाईं ओर छह से अधिक लोग
नह ं बैठे हैं। I और Q के बीच बैठे व्यक्तियों की संख्या
समान है
M और T के बीच बैठे व्यक्तियों की संख्या के बीच। M, T 
के दायें बैठा है। T और W के बीच िीन व्यक्ति बैठे हैं। W 
आसन्न बैठिा है
एल के ललए
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A certain number of people sitting in a South 
facing row. Only some people arrangements 
are known.
Only one person sits between I and M.L sits 
fourth to the left of I. Five person sits 
between L and V. Four people sit
between V and Q. Not more than six people 
sits to the right of V. Number of person sits 
between I and Q is as same as
between number of person sits between M 
and T. M sits right of T. Three peoplesit
between T and W. W sits adjacent
to L.
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If B sits Exactly between V and I, then what is the position of L 
with respect to B?
a) Second to the left b) Fifth to the left c) Fourth to the right d) 
Fifth to the right e) None of these

Who sits third to the right of W?
a) None of them sits third to right of W b) M c) I d) L 
e)T

How many persons are sitting in a row?
a) 16 b) 20 c) 18 d) 17 e) None of these

Four of the five among the following are similar in such a way to 
form a group, which one of the following doesn’t belongs to the 
group?
a)T b) M c) L d) W e)V

Who among the following sits at the extreme ends of 
the row?
a) M b) L c) I d) W e) None of these
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Eight people I, J, K, L, M, N, O and P are sitting in 
a rectangular table. Only three persons are 
sitting in the longer side of the rectangle. The 
people sits at longer side of table faces outside 
the table, while the people sits at smaller side 
of the table faces inside the table. All the 
information is not necessary to be in the same 
order. N sits second to the left of M. Only two 
persons sit between M and P, who is not an 
immediate neighbour of N. J sits immediate 
right of L. P sits opposite to I. Neither K nor L is 
an immediate neighbour of P. J sits second to 
the right of O and both are facing same 
direction. J does not sit opposite to O.

आठ व्यक्ति I, J, K, L, M, N, O और P एक आयिाकार
मेज पर बैठे हैं। आयि की सबसे लंबी भुजा में केवल िीन
व्यक्ति बैठे हैं। लोग टेबल की लंबी साइड पर टेबल के
बाहर की ओर उन्मुख होकर बैठिे हैं, जबकक लोग टेबल
की छोट साइड पर टेबल के अंदर की ओर उन्मुख होकर
बैठिे हैं। सभी सूचनाओं का एक ह क्रम में होना आवश्यक
नह ं है। N, M के बायें से दसूरे स्थान पर बैठा है। M और P 
के बीच केवल दो व्यक्ति बैठे हैं, जो N का ननकटिम
पडोसी नह ं है। J, L के ठीक दायें बैठा है। P, I के ववपर ि
बैठा है। न िो K और न ह L, P का ननकटिम पडोसी है। J, 
O के दायें से दसूरे स्थान पर बैठा है और दोनों का मुख
समान ददशा की ओर है। J, O के ववपर ि नह ं बैठा है।
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Eight people I, J, K, L, M, N, O and P are sitting in 
a rectangular table. Only three persons are 
sitting in the longer side of the rectangle. The 
people sits at longer side of table faces outside 
the table, while the people sits at smaller side 
of the table faces inside the table. All the 
information is not necessary to be in the same 
order. N sits second to the left of M. Only two 
persons sit between M and P, who is not an 
immediate neighbour of N. J sits immediate 
right of L. P sits opposite to I. Neither K nor L is 
an immediate neighbour of P. J sits second to 
the right of O and both are facing same 
direction. J does not sit opposite to O.
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Name the person who sits opposite to J?
a) M b) O c) N d) I e) None of these

If all the people are made to sit in alphabetical order in 
clockwise direction from I, then how many of them 
remains in their original position?
a) One b) Two c) Three d) More than Three e) None of 
these

Who sits second to the left of P?
a) L b) K c) J d) O e) None of these

Name the person who sits second to the right of L?
a) L b) K c) J d) O e) None of these

Who sits fourth to the left of J?
a) L b) M c) J d) O e) None of these
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Six persons A, B, C, D, E and F are sitting in a triangular 
table, such that three of them sitting at the corners of the
table and three are sitting at middle of the each side. The 
persons who are sitting at the corners are facing outside
the centre and the persons who are sitting at middle of 
the sides are facing the centre of the table. Each person 
likes different social network namely – Instagram, 
Telegram, Twitter, Facebook, Tumblr and Whatsapp. All 
the information is not necessary to be in the same order.
E likes Telegram and sits second to right of the one who 
like Tumblr. D doesn’t faces opposite to the center. C sits
immediate left of the one who like Facebook. B and D are 
not immediate neighbors. The one who like Instagram
sits Second to the right of B. F doesn’t like Facebook. Two 
people sit between the one who like Facebook and the
one who like Twitter. Two People sits between A and the 
one who like Whatsapp. The one who likes Twitter sits
second to the right of the one who like Whatsapp.

छह व्यक्ति A, B, C, D, E और F एक त्रिभुजाकार मेज पर
इस प्रकार बैठे हैं कक उनमें से िीन मेज के कोनों पर बैठे
हैं।मेज और िीन प्रत्येक भुजा के मध्य में बैठे हैं। कोनों पर
बैठे व्यक्तियों का मुख बाहर की ओर है
कें द्र और भुजाओं के मध्य में बैठे व्यक्तियों का मुख मेज के
कें द्र की ओर है। प्रत्येक व्यक्ति अलग-अलग सोशल नेटवकक
पसंद करिा है जसेै - इंस्टाग्राम, टेल ग्राम, ट्ववटर, फेसबुक, 
टम्बलर और व्हाट्सएप। सभी सूचनाओं का एक ह क्रम में
होना आवश्यक नह ं है। E को टेल ग्राम पसंद है और वह
टम्बलर पसंद करने वाले के दायें से दसूरे स्थान पर बैठा है।
D का मुख कें द्र के ववपर ि नह ं है। सी बैठिा है फेसबुक पसंद
करने वाले व्यक्ति के ठीक बाए।ं B और D ननकटिम पडोसी
नह ं हैं. वह जो इंस्टाग्राम पसंद करिा है B के दायें से दसूरे
स्थान पर बैठा है। F को फेसबुक पसंद नह ं है। Facebook 
पसंद करने वाले व्यक्ति और के बीच दो व्यक्ति बैठे हैं क्जसे
ट्ववटर पसंद है। A और Whatsapp पसंद करने वाले व्यक्ति
के मध्य दो व्यक्ति बैठे हैं। ट्ववटर पसंद करने वाला बैठा है
व्हाट्सएप पसंद करने वाले व्यक्ति के दायें से दसूरा।
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Six persons A, B, C, D, E and F are sitting in a triangular 
table, such that three of them sitting at the corners of the
table and three are sitting at middle of the each side. The 
persons who are sitting at the corners are facing outside
the centre and the persons who are sitting at middle of 
the sides are facing the centre of the table. Each person 
likes different social network namely – Instagram, 
Telegram, Twitter, Facebook, Tumblr and Whatsapp. All 
the information is not necessary to be in the same order.
E likes Telegram and sits second to right of the one who 
like Tumblr. D doesn’t faces opposite to the center. C sits
immediate left of the one who like Facebook. B and D are 
not immediate neighbors. The one who like Instagram
sits Second to the right of B. F doesn’t like Facebook. Two 
people sit between the one who like Facebook and the
one who like Twitter. Two People sits between A and the 
one who like Whatsapp. The one who likes Twitter sits
second to the right of the one who like Whatsapp.
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How many persons sit between the one who works in company R 
and the one who works in company S, when counted from left of 
G?
A.4
B.2
C.5
D.3
E.None of these

If I is related to Z, M is related to R, in the same way J is related 
to which of the following?
A.R
B.P
C.S
D.Q
E.None of these
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Which of the following statement is true?
A.Three persons sit between J and the one who works in company P
B.I sits immediate right of the one who works in
company S
C.H and the one who works in company R are not immediate neighbours
D.I sits fourth to the right of the one who works in company Z
E.None is true

Four of the following five are like in a certain way based on the above 
arrangement. Find which one does not belongs to the group?
A.M-T
B.L-W
C.N-R
D.I-Q
E.G-P
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Eleven persons A, B, C, D, E, F, G, H, I, J and K sits in the 
circle and facing the centre but not necessarily in the 
same order. D sits third to the right of B and three 
persons sit between D and I. A does not sits near to I. K 
sits second to the right of A and K does not sit near to 
D. Three persons sit between I and J. C sits third to the 
right of K. E is not the immediate neighbour of A and D. 
G sits second to the left of H. 

ग्यारह व्यक्ति A, B, C, D, E, F, G, H, I, J और K वतृ्त में बैठे हैं और
कें द्र की ओर उन्मुख हैं लेककन आवश्यक नह ं इसी क्रम में हों। D, B 
के दायें से िीसरे स्थान पर बैठा है और िीन व्यक्ति D और I के
बीच में बैठे हैं। A, I के ननकट नह ं बैठा है। K, A के दायें से दसूरे
स्थान पर बैठा है और K, D के ननकट नह ं बैठा है। I और J के बीच
िीन व्यक्ति बैठे हैं। C, K के दायें से िीसरे स्थान पर बैठा है। E, A 
और D का ननकटिम पडोसी नह ं है। G, H के बायें से दसूरे स्थान
पर बैठा है।
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Who sits second to the left of J? a) F b) A c) H d) K e) D

How many persons sit between A and G when counted 
from left of A? a) Four b) Three c) Five d) Two e) None

Who sits second to the right of the person who sits third 
to the left of H? a) G b) C c) E d) D e) I

When we arrange all the persons in alphabetical order 
starting from A in clockwise direction (excluding A) then 
the position of how many persons does not change? a) 
Two b) One c) Four d) Three e) None

Who sits fourth to the right of F? a) C b) G c) A d) B e) D
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